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Roots Groups 10 and 11 (+Review)
Part 1: Jeopardy—Fill in the correct response in the form of a question. The answer must include a phrase and a question word, such as who, what, or where, to be marked as correct. ONLY partial credit may be given if the question word is not included in the answer. 
Example 1: An example or overstatement
Answer 1: What is a hyperbole?
1. A room where someone sleeps
Answer____________________________________________________
2. A marriage between two people
Answer____________________________________________________
3. To be in disguise
Answer____________________________________________________
4. the belief or opinion that is generally held about someone or something
Answer_______________________________________________
5. a particular position, point, or place
Answer_______________________________________________
Part 2: In his or her shoes—Circle the word “agree” or “disagree” based on how you might feel in these people’s shoes.
6. A mom might dispute with her partner if money is tight, and the two have a lot of bills.
AGREE                                                           DISAGREE
7. Thousands of workers who have been dislocated by the latest economic crisis will be stress-free.
AGREE                                                          DISAGREE
8. When planning for a new school, the administration will consider the placement of vestibules for easy traveling of students.
AGREE                                                          DISAGREE
9. The mayor of a city will be concerned with the populous the area. 
AGREE                                                          DISAGREE
10. A teenager with acne will have to take tetrahedron to heal his face.
AGREE                                                         DISAGREE
PART 3: Choose the best answer
11. Which word has a root that means “father?”
a. matri                           b. ver                               c. magn                             d. pater
12. Which word has the closest definition to cognizant?
a. oblivious              b. aware                        c. insensible                     d. disguise
13. What is the purpose of a locomotive?
a. to heal an infection        b. to prove something       c. to travel somewhere    d. to sleep
14. Dormant bears will probably do what in the winter?
a. hunt for food                      b. sleep              c. look for mates              d. build houses
15. If I want to patronize someone, what might I say?
a. “You wouldn’t know!”      b. “You’re good at that!”   c. “Sit by me!”   d. “Help!”
Part 4—True or False
16. An octave is comprised of 4 notes.____________
17. A Nihilist sees a lot of value in life.___________
18. An odometer measures the distance traveled in a vehicle.____________
19. Ponderous means difficult to answer.___________________
20. Verdict means decision.____________________
